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What causes. . . ?

Why does the author mention. . . ?

How many...?7 )

Where in the passage does the author describe. . . 7

The author discusses. . . in order to illustrate which of the following?
What time does the writer think is. .. ?

What does the author pay least attention to. . . ?

How many. .. does (did) somebody do something?

Where is. . . located?



2 RETLENRBE 30 RRW

What does (did) somebody do?

How did something happen?

When was something done?

Which of the following people should(not)do?
We can see from. . . that. ..
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It is a curious paradox that we think of the physical sciences as
“hard”, the social sciences as “soft”, and the biological sciences as
somewhere in between. This is interpreted to mean that our
knowledge of physical systems is more certain than our knowledge of
biological systems, and these in turn are more certain than our
knowledge of social systems. In terms of our capacity to sample the
relevant universes, however, and the probability that our images of
these universes are at least approximately correct, one suspects that a
reverse order is more reasonable. We are able to sample earth’s social
systems with some degree of confidence that we have a reasonable
sample of the total universe being investigated. Our knowledge of
social systems, ‘therefore, while it is in many ways extremely
inaccurate, is not likely to be seriously overturned by new discoveries.
Even the folk knowledge in social systems on which ordinary life is
based in earning, spending, organizing, marrying, taking part in
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political activities, fighting and so on, is not very dissimilar from the
more sophisticated images of the social system derived from the social
sciences, even though it is built upon the very imperfect samples of
personal experience.

In contrast, our image of the astronomical universe, of even of
earth’s geological history, can easily be subject to revolutionary
changes as new data comes in and new theories are worked out. If we
define the “security” of our image of various parts of the total system
as the probability of their suffering significant changes, then we would
reverse the order of hardness and see the social sciences as the most
secure, the physical sciences as the least secure, and again the
biological sciences as somewhere in between. Qur image of the
astronomical universe is the least secure of all simply because we
observe such a fantastically small sample of it and its record-keeping is
trivial as compared with the rich records of the social systems, or even
the limited records of biological systems. Records of the astronomical
universe, despite the fact that we see distant things as they were long
ago, are limited in the extreme.

Even in regard to such a close neighbour as the moon, which we
have actually visited, theories about its origin and history are
extremely different, contradictory, and hard to choose among. Our
knowledge of physical evolution is incomplete and highly insecure.

1. The chances of the physical sciences being subject to great changes
are the biggest because .
A) contradictory theories keep emerging all the time
B) new information is constantly coming in
C) the direction of their development is difficult to predict
D) our knowledge of the physical world is inaccurate
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The estimates of the numbers of home-schooled children vary
widely. The U. S. Department of Education estimates there are
250,000 to 350,000 home-schooled children in the country. Home—
school advocates put the number much higher—at about a million.

Many public school advocates take a harsh attitude toward home
schoolers, perceiving their actions as the ultimate slap in the face for
public education and a damaging move for the children. Home
schoolers harbor few kind words for public schools, charging
shortcomings that range from lack of religious perspective in the
curriculum to a herdlike approach to teaching children.

Yet, as public school officials realize they stand little to gain by
remaining hostile to the home-scheol population, and as home schoolers
realize they can reap benefits from public schools, these hard lines seem
to be softening a bit. Public schools and home schoolers have moved
closer to tolerance and, in some cases, even cooperation.

Says John Marshall, an education official, “We are becoming
relatively tolerant of home schoolers. "The idea is, let’s give the kids
access to public school so they’ll see it’s not as terrible as they’ ve been
told , and they’ Il want to come back.

Perhaps, but don’t count on it, say home-school advocates.
Home schoolers oppose the system because they have strong convictions
that their approach to education—whether fueled by religious
enthusiasm or the individual child’ s interests and natural pace—is
best.

“The bulk of home schoolers just want to be left alone, ”says
Enge Cannon, associate director of the National Center For Hone
Education. She says home schoolers choose that path for a variety of
reasons, but religion plays a role 85 percents of the time.

Professor Vant Galen breaks home schoolers into two groups.
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Some schoolers want their children to learn not only traditional subject
matter but also “strict religious doctrine and a conservative political and
social perspective. Not incidentally, they also want their children to
learn—both intellectually and emotionally—that the family is the most
important institution in society. ~
Other home schoolers contend “not so much that the schools teach
heresy (5 5 38 1% ), but that schools teach whatever they teach
inappropriately,” Van Galen writes. “ These parents are highly
independent and strive to ‘ take responsibility ’ for their own lives
within a society that they define as bureaucratic and inefficient. ”
2. Public schools are softening their position on home schooling
because _
A) there isn’ t much they can do to change the present situation
B) they want to show their tolerance for different teaching systems
C) home schooling provides a new variety of education for children

D) public schools have so many problems that they cannot offer
proper education for all children

Wmdvantage and disadvantage of a large population have long
been a subject of discussion among economists, It has been argued that
the supply of good land is limited. To feed a large population; inferior
land must be cultivated and the good land worked intensively. Thus,
each person produces less and this means a lower average income than
could be obtained with a smaller population. Other economists have
argued that a large population gives more scope for specialization and
the development of facilities such as ports, roads and taitways,
which are not likely to be built unless there s a big demand to justify
them. :

One of the difficulties in carrying out & worldwide birth coritrol
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program lies in the fact that official attitudes to population growth
vary from country to country depending on the level of industrial
development and the availability of food raw materials. In the
developing country where a vastly expanded population is pressing
hard upon the limits of food, space and natural resources, it will be
the first concern of government to place a limit on the birthrate,
whatever the consequences many be. In a highly industrialized
society, the problem may be more complex. A decreasing birthrate
may lead to unemployment because it results in a declining market
for manufactured goods. When the pressure of population on housing
declines, prices also decline and the building industry is weakened.
Faced with considerations such as these, the government of a
developed country may well prefer to see a slowly increasing
population, rather than one which is stable or in decline.

Notes :
facility n. € F|%& #

3. In a developed country, people will perhaps go out of work if

A) the birthrate goes up

B) the birthrate goes down

C) the birthrate remains stable

D) there is a great demand for manufactured goods

PRt 2 HEL
4. As farasthe rank of position is concerned, an associate professor
is to a professor, though they are almost equally

knowledgeable. (96.1)
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A) attached B) subsidiary
C) previous D) inferior
5. Last year, the crime rate in Chicago has sharply
(97.6)
A) declined B) lessened
C) descended D) slipped

For centuries men dreamed of achieving vertical flight. In 400
A.D. Chinese children played with a fan-like toy that spun upwards
and fell back to earth as rotation ceased. Leonardo da Vinci
conceived the first mechanical apparatus, called a “Helix”, which
could carry a man straight up, but this was only a design and was
never tested.

The ancient-dream was finally realized in 1940 when a Russian
engineer piloted a strange looking craft of steel tubing with a
rotating fan on top. It rose awkwardly and vertically into the air
from a standing start, hovered a few feet above the ground, went
sideways and backwards, and then settled back to earth. That
vehicle was called a helicopter.

Imaginations were fired. Men dreamed of going to work in
their own personal helicopters. People anticipated that vertical
flight transports would carry millions of passengers as do the
airliners of today. Such fantastic expectations were not fulfilled.

The helicopter has now become an extremely useful machine. It
excels in military missions, carrying troops, guns and strategic
instrumerits where other aircraft cannot go. Corporations use them
as airhorne offices, many metropolitan areas use them in police
work, construction and logging companies employ them in various
advantageous ways, engineers use them for site selection and
surveying, and oil companies use them as the best way to make off-
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shore and remote work stations accessible to crews and supplies.
Any urgent mission to a hard-to-get-to place is a likely task for a
helicopter. Among their other multitude of uses: deliver people
across town, fly to and from airports, assist in rescue work, and aid
in the search for missing or wanted persons.

Notes :
tu bing n. &FHHH

.. Helicopters work with the aidof _

A) a combination of rotating devices in front and on top

B) a rotating device topside

C) one rotating fan in the center of the aircraft and others at each
end

D) a rotating fan in each flank

PkiR 4 BRI
7. The doctors don’t that he will live much longer.
(00. 1)
A) articulate B) anticipate
C) manifest D) monitor
8. Scientists first the idea of the atom bomb in the 1930s.
(00. 1)
A) imagined B) conceived
C) considered D) acknowledged
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